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D-5212
M.A. (Ist Semester) Examination, 2020

HISTORY

(Modern World)

Time Allowed : Three Hours

Maximum Marks : 70

KeC[ - De

SECTION - A

veesš : efkeâvneR ome ØeMveeW keâe Gòej oerefpeS~ ØelÙeskeâ ØeMve Skeâ Debkeâ keâe

nw~ 1×10=10

Note : Attempt any ten questions. Each question carries

one mark.

Q. 1. Jemlegefve‰ ØeMve :

Objective type :

ØeMve ›eâ: (1—5) efjkeäle mLeeve YejW

Question No. (1-5) Fill in the blanks type.
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(i) pece&veer kesâ 1871 F&. kesâ mebefJeOeeve ceW GÛÛe meove keâes

............ veece mes peevee peelee Lee~

The upper house was known as the

________ in the 1871 AD constitution of

Germany.

(ii) mesve mšerHesâvees keâer mebefOe-1878 ceW legkeâea ves ............

jepÙe kesâ meeLe keâer~

In 1878 AD, Turkey signed the Treaty of Sen

Stefano with _______.

(iii) 1832 kesâ megOeej DeefOeefveÙece heeefjle nesles meceÙe FbiuewC[

kesâ ØeOeeveceb$eer ............ Les~

The Prime Minister of England was _______

when the Reform Act, 1832 AD was passed.
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(3) (4)

(iv) efnlesefjÙee efHeâukesâ veecekeâ mebmLee keâe ie"ve ............

veecekeâ mLeeve ceW ngDee Lee~

An institution called Heteria Filke was formed

in a a place called _______.

(v) efJekeäšj FceevegSue efÉleerÙe ............ jepeJebMe Lee~

Victor Emanuel II was of the _______

dynasty.

ØeMve ›eâ: (6—12) yengefJekeâuheerÙe Øekeâej

Question No. (6-12) Multiple choice type.

(vi) kegâmlegvlegefveÙee hej legkeâea keâe DeefOekeâej efkeâme Je<e& ceW ngDee :

(De) 1450 F&.

(ye) 1451 F&.

(me) 1452 F&.

(o) 1453 F&.

In which year did the Turkey take control over

Kustuntunia :

(a) 1450 AD

(b) 1451 AD

(c) 1452 AD

(d) 1453 AD

(vii) ‘‘hetJeea mecemÙee ØecegKeleÙee ÙetjesheerÙe legkeâea kesâ YeeiÙe keâer

mecemÙee Leer~’’ efkeâmeves keâne :

(De) ef[pejeÙeueer

(ye) nspeve

(me) ceeuex

(o) efceuej

"The Eastern problem was mainly the fate of

European Turkey" who told :



(5) (6)
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(a) Disraeli

(b) Heijan

(c) Marley

(d) Miller

(viii) je°̂mebIe JewOeeefvekeâ ™he mes efkeâme efove DeefmlelJe ceW DeeÙee :

(De) 14 peveJejer, 1919 F&.

(ye) 28 DeØewue, 1919 F&.

(me) 10 peveJejer, 1920 F&.

(o) 20 HeâjJejer, 1920 F&.

On what day did the League of Nations came

into existence legally :

(a) 14 January, 1919 AD

(b) 28 April, 1919 AD

(c) 10 January, 1920 AD

(d) 20 February, 1920 AD

(ix) ‘‘nce Yetefce kesâ YetKes nQ keäÙeeWefkeâ nceejer pevemebKÙee ceW Je=efæ

nes jner nw~’’ efkeâmeves keâne :

(De) efnšuej

(ye) øeWâkeâes

(me) ÛeefÛe&ue

(o) cegmeesefueveer

"We are land hungry because our population

is increasing." Who told this :

(a) Hitler

(b) Franco

(c) Churchill

(d) Mussolini



(7) (8)
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(x) ™me keâer ›eâebefle (1917 F&.) kesâ meceÙe ™me keâe peej keâewve

Lee :

(De) peej efvekeâesueme ØeLece

(ye) peej DeueskeäpesC[j ØeLece

(me) peej DeueskeäpesC[j efÉleerÙe

(o) peej efvekeâesueme efÉleerÙe

Who was the 'Jar' of Russia at the time of

Russian Revolution of 1917 AD :

(a) Jar Nicholas I

(b) Jar Alexander I

(c) Jar Alexander II

(d) Jar Nicholas II

(xi) ØeLece efJeMJe Ùegæ DeejcYe ngDee :

(De) 28 pegueeF&, 1914 F&.

(ye) 29 pegueeF&, 1914 F&.

(me) 30 pegueeF&, 1914 F&.

(o) 31 pegueeF&, 1914 F&.

The first world war began in :

(a) 28 July, 1914 AD

(b) 29 July, 1914 AD

(c) 30 July, 1914 AD

(d) 31 July, 1914 AD

(xii) yeeukeâve jepÙeeW kesâ Deehemeer mebIe<e& ceb Deeefmš^Ùee ves efkeâme

jepÙe keâe meceLe&ve efkeâÙee :

(De) Ùetveeve

(ye) meefye&Ùee

(me) ™ceeefveÙee

(o) yeuieeefjÙee
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(9) (10)

Which state did Austria support in the mutual

conflict of the Balkan states :

(a) Greece

(b) Serbia

(c) Romania

(d) Bulgaria

KeC[ - ye

SECTION - B

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 2 DebkeâeW keâe

nw~ 5×2=10

Note : Attempt any five questions. Each question carries

2 marks.

Q. 2. Deefle ueIeg GòejerÙe ØeMve (25-30 Meyo) :

Very short answer type (25-30 words) :

(i) meeceüepÙeJeeo keäÙee nw ?

What is imperialism ?

(ii) je°̂mebIe keâer mLeehevee keâe keäÙee GösMÙe Lee ?

What was the purpose of the establishment

of the League of Nations ?

(iii) uesefveve mejkeâej kesâ keäÙee GösMÙe Les ?

What were the objectives of Lenin

government ?

(iv) hesefjme Meebefle meccesueve keäÙee Lee ?

What was the Paris Peace Conference ?
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(11) (12)

(v) vÙet [erue keäÙee Leer ?

What was the 'New Deal' ?

(vi) kewâmej efJeefueÙece efÉleerÙe keâewve Lee ?

Who was Kaiser William II ?

(vii) cesF&peer hegvemLee&hevee kesâ keäÙee keâejCe Les ?

What were the reasons for the Meiji

Restoration ?

KeC[ - me

SECTION - C

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 4 DebkeâeW keâe

nw~ 5×4=20

Note : Attempt any 5 questions. Each question carries 4

marks.

Q. 3. ueIeg GòejerÙe ØeMve (250 Meyo) :

Short answer type (250 words) :

(i) kewâmej efJeefueÙece efÉleerÙe keâer efJeMJe jepeveerefle hej efšhheCeer

efueKeW~

Write a commentary on the world politics of

Kaiser William II.

(ii) efyemceeke&â keâer efJeosMe veerefle keâe cetuÙeebkeâve keâerefpeS~

Evaluate the foreign policy of Bismarck.

(iii) yeeukeâve Ùegæ hej ÛeÛee& keâjW~

Discuss the Balkan war.

(iv) FbiuewC[ ceW GoejJeeo kesâ efJekeâeme hej mebef#ehle uesKe efueKeW~

Write a short article on the development of

liberalism in England.
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(13) (14)

(v) efJeMJe ceW hetBpeerJeeo keâe efJekeâeme efkeâme Øekeâej ngDee ?

How did capitalism develop in the world ?

(vi) je°̂mebIe keâer DemeHeâueleeDeeW keâer JÙeeKÙee keâerefpeÙes~

Explain the failures of the League of Nations.

(vii) Fšueer ceW HeâemeerJeeo hej mebef#ehle efveyebOe efueKeW~

Write a short essay on fascism in Italy.

KeC[ - o

SECTION - D

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 10 DebkeâeW keâe

nw~ 10×3=30

Note : Attempt any three questions. Each question

carries 10 marks.

Q. 4. efveyebOeelcekeâ ØeMve (500 MeyoeW mes DeefOekeâ) :

Essay type (more than 500 words) :

(i) efJeMJe DeeefLe&keâ ceboer hej efveyevOe efueKeW~

Write an essay on world economic recession.

(ii) ™meer ›eâebefle kesâ keäÙee keâejCe Les ? meefJemleej mecePeeFÙes~

Explain in detail the reasons for the Russian

revolution.

(iii) ØeLece efJeMJeÙegæ kesâ keâejCe SJeb heefjCeeceeW keâe JeCe&ve

keâerefpeS~

Describe the causes and consequences of

First World War.



(15)
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(iv) efJeMJe ceW meceepeJeeo kesâ efJekeâeme hej uesKe efueKeW~

Write an article on the development of

socialism in the world.
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